Math 3

Problems 1-4 on warm-up sheet handed to you.
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4.4 Adding and Subtracting Rational Expressions
Adding Rational Expressions:

Step 1: Set each factor of the @em OIS
equal to zero and solve for X .

Note: State these as your {5 bieh e

Step 2: Get a _/O\\ V1oV S QQ_\
Aenom dnatoc @I +'§P¥

Step 3: Combine the [N\UM¢E U'B«JI—CN e by dlstrlbutlng
and combining Ilke terms.

Step 4: %\W\‘D between top and bottom if p055|ble
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We will follow the same steps as 8[&&1 N\ G
rational expressions; however, we must be stire to
AiShivnle the “” in the
NANEC 3ty .
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Foldable:

-cut the page along the dashed line.
-Line up the bottom of the two pieces as shown:

W, Rapicic K B Powere x (@ TestGro % [ Moil-re X Beginne % '{ [ Pand: 4% ) & Dayd-. x emem - O
Qiony i
g the dashed line). Then they will line up i

Least Common Denominator

Different Denominator

over the top portion and secure with a fev

-Fold over the top part and secure W|th 2 staples It should
look like this: : —~
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Math 3
-Warm-up Problems #5-8.
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